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AP Postman/Mail Guard Exam 2016
Held on - 29.01.2017

PART- A (General Knowledge)
1. Archery is the National sport of which country?
(A) Afghanistan @ Bhutan
(C) Japan (D) India
2. Who was the founder of the Arya Samaj?
(A) Swami Vivekanand (B) Raja Ram Mohan Roy
(C) Lala Lajpat Rai (D) Swami Dayanand Saraswat
3. Who among the following is NOT associated with the Quit India Movement?
(A) Usha Mehta (B) Aruna Asaf Ali
(C) Mahatma Gandhi (D) Dadabhai Naoroji

4. Which of the following is responsible for the preparation and presentation of Union
Budget to the Parliament?

(A) Department of revenue @ Department of economic affairs
(C) Department of financial services (D) Department of expenditure
5. "Sare Jahan Se Achcha, Hindustan Hamara" was written by-
(A) Mohammed Igbal (B) Hasrat Mohani
(C) Ram Prasad Bismil (D) None of these

6. Complete the series.
E,HLO,S,?

(A) U @) v
© W D) X
7. lodine is a part of thyroid hormone and is essential for the prevention of-
Goiter (B) Osteoporosis
(C) Muscle weakness (D) Dharrheal
8. Which is the official State bird of Delhi?
@ House sparrow (B) Hill myna
(C) Cuckoo (D) Koel
9. Who administers the oath of office to the President of India?
(A) Vice-President (B) Prime Minister
@ Chief Justice of India (D) Speaker of Lok Sabha
10. Which of the following is the brightest star?
{A) Sirius (B) Alpha centauri
(C) Proxima Centaun (D) Polars
11. What was the name of the first cloned sheep?
(A) Jolly (@) Dolly
(C) Molly (D) Polly
12. The currency of Qatar is:
(A) Peso (B) Dollar
@) Riyal (D) Rupee
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13. Directive principles of State policy in Indian Constitution were borrowed from which of
the following countries?

(A) Canada (B) Australia
(C) America @ Ireland
14. Who has become the first woman President of All India Tennis Association (AITA)?
(A) Mamatha Maben (B) Anjum Chopra
(C) Mithali Raj @ Praveen Mahajan
15. The practise of untouchability is prohibited by the-
(A) Article 17 (B) Arucle 18
(C) Aracle 19 (D) Aracle 20
16. If FORGET is written as DPPHCU, in a certain code then how is DOCTOR written as?
(A) BPARUS (B) NIDSAN
(©) BPAUMS (D) ARPSHE
17. Who is known as the “Flying Sikh of India”?
(A) Mohinder Singh Milkha Singh
(C) Ajit Pal Singh (D) Joginder Singh
18. is the second largest brackish water lake or lagoon in India.
(A) Muthupet (B) Cherai beach lagoon
(C) Sriharikota Pulicat Lake
19. India’s first and Asia’s longest cycle highway has been opened in which State of India?
@ Uttar Pradesh (B) Andhra Pradesh
(C) Odisha (D) Assam
20. The first Indian woman President of Indian National Congress was-
(A) Rajkumari Amrit Kaur (B) Sarojini Naidu
(C) Sucheta Kripalani (D) Viyayalakshmi Pandit
21. How many medals did India win in the Rio de Janeiro Olympics, 2016?
(A) 1 (@®) 2
© 3 D) 4
22, What is the expansion of EMI?
(A) Equated Money Installment @ Equated Monthly Installment
(C) Equally Monthly Installment (D) Equally Money Installment
23. Which of the following is NOT an excretory organ?
(A) Lungs (B) Liver
(C) Kidney (D) Adrenal gland
24. Which is the capital of Denmark?
(A) Khartoum (B) Chisinau
(C) Rome @ Copenhagen
25. Diffusion of light in the atmosphere takes place due to-
(A) Carbon dioxide (B) Dust particles
(C) Helium (D) Water vapours

sakshieducation.com


webs72
Oval

webs72
Oval

webs72
Oval

webs72
Oval

webs72
Oval

webs72
Oval

webs72
Oval

webs72
Oval

webs72
Oval

webs72
Oval

webs72
Oval

webs72
Oval

webs72
Oval


sakshieducation.com

PART- A (General Knowledge)
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PART - B (Mathematics)

o

26. The angles of a quadrilateral are respectively 100°, 98° and 92°. The fourth angle is equal

to-
@ 70° (B) 75°
(C) 90° D) 95°

27. Mithran, Naren and Vedanth enter into a partnership. Mithran contributes ¥ 320 for
4 months, Naren contributes ¥ 510 for 3 months and Vedanth contributes ¥ 270 for
5 months. If the total profit is ¥ 208, find the profit share of the partners.

(A) T060,¥75,267.50 (B) T 64, 75.50, T67.50
(€) % 60,%76.50,% 67 ((D) T 64,%76.50, % 67.50
28. Find the largest number of four digits which is exactly divisible by 12, 15, 18 and 27.
@) 9720 (B) 9763
(C) 9840 D) 9994
29. The length of the side of an equilateral triangle is 74-:111. Find its height.
3
@) 2cm (B) 4cm
(C) 6cm (D) 8 cm

30. A television dealer sold a television set for ¥ 9506, the selling price of which was ¥ 9800.
Find the rate of discount.

@ 3% (B) 4%
©) 5% D) 6%

2 3 1
31. A man spends : of his salary on food, -IE of his salary on house rent and F of the salary

on clothes. He still has € 1400 left with him. Find his salary.
(A) T 7000 B) T 7200

(€) T 7500 (D) T 8000
32. 0.746 x 0.746 x 0.746 + 0.254 x 0.254 x 0.254 + 3 x 0.746 x 0.254 (0.746 + 0.254) is equal to-

(A) 0 ®) 1
€ 1.920 D) 10

33. A man is walking at a speed of 10 km per hour. After every kilometre, he takes rest for
5 minutes. How much time will he take to cover a distance of 5 km?

(A) 30 minutes (B) 40 minutes
(@©) 50 minutes (D) 60 minutes
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34. Which colour cars are 20% less popular than white coloured cars?

Eclling of car in [India sccoeding o their colours

ireen T Bhee 13%%

Silver 10
Brown 2. Yellow 107
Black 5%
Golden 6% ' Red 19%%
Thil;: 26%
(A) Black () Golden
(C) Red (D) Blue
35. The base and other side of an isosceles triangle is 10 cm and 13 cm respectively. Find its
area.
(A) 52 cm? (B) 58 cm?
{C) 60 cm? (D) 64 cm?
36. If log, x +log, x=6, then ‘X’ is equal to-
(A) 2 (B) 4

(© 8 ®) 16

37. A pipe can fill the cistern in 8 hours and another can empty the cistern in 13 hours. How
long will they take to fill the cistern if both the taps are opened?

(A) 12 hours 20.8 hours
(C) 22 hours (D) 24 hours

38. There are two sections A and B of a class, consisting of 36 and 44 students respectively. If
the average weight of section A is 40 kg and that of section B is 35 kg. Find the average

weight of the whole class.
(A) 35.25kg (B) 36.25 kg
{©) 37.25kg (D) 37.75 kg
39. The principal which yields a Simple Interest of ¥ 90 at 6% per annum in 3 years is:
(A) T270 @) T 500
(C) ¥T540 D) T720
1 z2 _1
40. Simplify: 108 -36| — |+| — x 3—
i [4] ( 5 4)
1 2
(A} 12— B) 12—
10 10
3 5
©) 13= D) 13—
10 10
41. What is 9% of 27?7
243 256
100 1000
563 852
€ — (D)
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42. At what rate percent Compound Interest per annum will ¥ 2000 amount to ¥ 2662 in three

years?
(A) 8% B) 9%
(C) 10% D) 12%
b
43, ——— =450
0.81
A) 9 (B) 90
(C) 400 (D) 405

44. A man can row a boat 4 km/hr in still water and he finds that it takes him twice as long
to row up as to tow down the river. Find the rate of stream.

(A) 1.2km/hr (@) 1.3 km/hr
(C) 1.4 km/hr (D) 1.5 km/hr

45. From a point ‘P’ on a level ground, the angle of elevation of the top of a tower is 30°. If
the tower is 100 m high, the distance of point ‘P’ from the foot of the tower is:

(A) 149 m (B) 156 m

@ 173 m (D) 200 m

46. Mithilesh and Nishanth can do a job alone in 10 days and 12 days respectively. Mithilesh

starts the work alone and after 6 days Nishanth also joins to finish the work together. For
how many days did Nishanth actually work on the job?

A 22 8

11

(©) 10 D) 12
47. The least number which is a perfect square and is divisible by each of the numbers 16, 20
and 24 is:
(A) 1600 (B) 3600
(C) 6400 (D) 14400

48. Find the fourth proportional to 16, 4 and 4.

(A) 0 @ 1

© 2 D) 3

49. Find the greatest number of 3 digits, which is exactly divisible by 35.
(A) 975 (B) 980
(Cy 985 (D) 995

50. A shopkeeper purchases 10 kg of rice at ¥ 600 and sells at a loss as much the selling price
of 2 kg of rice. Find the sale rate of rice/kg.

@A) T50 (B) T 60
() T70 D) T 80

PART - B (Mathematics)
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CELE RS

(A) 70° B) 75°

(C) 90° (D) 95°
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PART - C(i) (English)

51. Choose the correct synonym of the given word from the options given below.

FORUM
\) Market (B) Coun
(C) Avenue (D)) Assembly
52. Use the appropriate article for the sentence given below.
I hope to reach Delhiin _______ hour.
(\) A (B) An
(C) The (D) No artcle
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53. Choose from the four options, the word that best substitutes the given phrase.

Abnormal fear of confined places.

(A) Pyrophobia (B) Xenophobia
(C) Dipsomania (D) Claustrophobia
54. Choose the correct conjunction from the given options to complete the sentence.
She is more intelligent her sister.
(A) As (B) Than
(C) Before (D) Because

55. Choose the correct synonym of the given word from the options given below.
REMEDY

(A) Redress (B) Fixed
(C) Tentatve (D) Treatment
56. Choose the correct preposition from the given options to complete the sentence.
Shylu is not generous her money.
(A) Of @B) With
(C) About (D) To
57. Identify the correct sentence from the options given below.
(A) Me favounte color was red (B) Mine favourite color is red
@ My favourite color is red (D) My favourite color are red

58. Complete the proverb :

You can’t judge a by its cover.
(A) Gift (®B) Book
(C) Person (D) Bottle

59. In the following question, each sentence has four portions marked P, Q, R and S.
Rearrange it in the proper sequence in order to make a meaningful sentence.

Two cups of tea (P) / in the morning (Q) / before she feels really awake (R) / she has to
drink (S)

(A) PQRS @@ SPQR
(C) SRQP (D) QPSR

60. Choose the correct alternative which will improve the quoted part of the given sentence.

‘However you drive fast’ [ always feel safe with you.
(A) Whether you dnve fast @ However fast you dnve

(C) Because you drve fast (D) No improvement

61. Choose the appropriate word to complete the sentence.

You mad if you think I am going to show you my answer sheet.
(A) Are supposed to be Must be
(C) Will be (D) Can be

Page 1 3
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62. Choose the correct word/phrase to complete the following sentence.

Kumar would have to work all night in order to complete the report.
(A) Tell to Suresh that he Said that Suresh
(C) Told that Suresh (D) Informed that Suresh
63. Choose the correct verb from the given options to complete the sentence.
Tom is a good man but his business skills ____ bad.
(A) Is (B) Has been
O Are (D) Is being
64. Choose the correct antonym of the given word from the options given below.
SUBSEQUENT
() Previous (B) Aloof
(C) Dismissive (D) Following
65. Choose the correct tense from the given options to complete the sentence.
Columbus America.
(A) Discover (B) Discovers
@ Discovered (D) None of these
66. Choose the misspelt word.
@A) Dillijent (B) Pellucid
(C) Unwholesome (D) Translucent

67. Choose the alternative which best expresses the meaning of the idiom/phrase given
below.

It is always good to ‘have the ball at one’s feet’.

Have things under control (B) Be ready to kick the ball
(C) Be in circumstances where one would (D) Be the winner
succeed

68. Choose the correct alternative which will improve the quoted part of the given sentence.

Although I was reading, ‘but I felt sleepy’.

(A) Because I felt sleepy I felt sleepy
(C) Because I didn't teel sleepy (D) No improvement
69. Choose the correct antonym of the given word from the options given below.
ABRUPT
(AD At ease (B) Continue
(C) Laudable (D) Careless
70. Choose the correct question tag for the given sentence.
She looks beautiful ?
{A) Doesn’t she (B) Don’t she
(C) Is she (D) Didn’t she

Page 1 4.‘
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Directions (Q. 71 - 75): Read the following passage carefully and answer the questions
given below. ‘

Are the 1980s and 1990s the era of colour? According to some people, they are. Now you
can buy radios and electric fans in lavender and pink. Restaurants have an emphasis on
flowers and colourful plates. Cars are made out in pink and aqua. Even bathroom fixtures
are being made in "honey dew" and "blond". Part of the importance of the colour of an
object is that it affects the way one feels about it. You want a vacuum cleaner to look light
and easy, which is why it may be coloured in pastels and light colours. But you want
gardening equipment and athletic equipment to look powerful. You would never find a
lawn mower in pink, but red would be fine. Not very long ago, sheets were always white
and refrigerators commonly came in colours like "old gold", "avocado green" and
"coppertone”. Now those are thought of as old-fashioned. Popular colours cha

because fashion influences everything. In fact, new colours often spring from the fashion
industry. It’s lot cheaper to make a blouse or skirt than a sofa. After people get used to
seeing new colours on clothing or towels, they are ready to accept those colours in
carpeting, refrigerators or cars. Colour - analysis consultants have been very successful in
recent years. People want to choose the most flattering colours for make-up and clothing.
Some car designers even say that people may begin buying cars of the colour that goes
with their skin colouring. This sounds too extreme. It’s hard to believe that people are that

impressionable!
71. The word ‘era’ in first line could best be replaced by which of the following words?
(A) Season @ Age
(C) Epic (D) Generation
72. According to the author which of the following is NOT popular now?
@A) Coppertone (B) Colourful cars
(C) Pastels (D) Colourful bathroom fixtures
73. According to the author, why would red be a good colour for a lawn mower?
({(A) Because it connotes strength (B) Because it is cheap
(C) Because itis light (D) Because it is a pastel shade
74. In this passage which of the following is NOT used as names for colours?
(A) Fruis (B) Hair colours
@ Minerals (D) Dnnks
75. The main subject of the passage is-
{AY Popular colours today (B) Colour consultants
(C) The influence of colour (D) Colours that flatter people

PART - C(ii) (Telugu)
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